Q2) (20°poin inga "2 context switch, P1 with 200 MB size is swapped out. Then, P2 with 120 MB size is swapped

in, and run on CPU for 3 seconds.
Then, another context switch occurred, P2 is swapped out, and P1 is swapped in back to continue.
What is the total time spent, assuming disk latency as 20 miliseconds, and disk transfer rate as 40 MB/second.

y2% ‘;W?,ow(-;o’loomb/[,owu = $sec \9-¥/?—“’(‘“”‘7_4%M;¢ e

& JW‘Y’L‘ : A2 B/ B s foa, :35«. 6\ 31_5 Oo
= 3 A i 1"37"ﬂ0¢+3+ - 7
P2 execnde g > /7. 98 'se< Afl
—_—

Q3) Process CPU Burst Time Arrival Time Threads
{ |
Pi 7 0 TEE2
P2 4 2 T3,T4,T5
P3 3 5 Té6
P4 1 8 T7,T8
P5 6 10 T9,T10

(a) FCFS; draw Ganit chart. compute the waiting time of each process, list threads might be running between times 10-11.
(b) SRTF, draw Gantt chart. compute the waiting time of each process, list threads might be running between times 10-11.
(¢) RR (q = 3).draw Gantt chart. compute the waiting time of each process, list threads might be running between times

10-11.
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